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= 4,015,000
= 1,204,000
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< 18,631,000
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= 50,385,000
< 15,114,000

403 A X EHHS 20l A 65,499,000 63,229,000 2,270,000
= 50,385,000
< 15,114,000

01 HXHMA=E X 65,499,000 63,229,000 2,270,000
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= 50,385,000
< 15,114,000
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201 Let24E] 20,000 17,000 3,000
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oS X Mo B Z H R =8O bl 15,000
403 UHXSHHSA=0l& 70,000 100,000 30,000
01 X HHMA=ZLE L 70,000 100,000 230,000
CITHoH 0l & 2 Al € = Xl HI 70,000
S MdFALLE XA 11,576,000 6,671,000 4,905,000
= 8,905,000
= 2,671,000
403 XM SA=0l& 11,576,000 6,671,000 4,905,000
= 8,905,000
< 2,671,000
01 HIXSHMA=2E X 11,576,000 6,671,000 4,905,000
SEMBANEEXALY 11,576,000
= 8,905,000
< 2,671,000
THoH 21 & M==XIZHl At 3,211,000 0 3,211,000
= 2,470,000
< 741,000
403 XSS X201 & 3,211,000 0 3,211,000
= 2,470,000
< 741,000
01 XXM 22 = 3,211,000 0 3,211,000
LMol 21 & M ==Xl AL 3,211,000
= 2,470,000
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S =M Ed 9,000 232,000 A223,000
Mz2dsdestxd 9,000 232,000 A 223,000
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201 Let24d] 8,000 11,000 A 3,000
01 At 2teltl 8,000 0 8,000
Ogpt=2Hl 2,000
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202 044l 1,000 10,000 A 9,000
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StEAIE SZUHEYE 156,000 269,200 A 113,200
StEANESEER 156,000 269,200 A 113,200




HETAEH= M XY
SHEAME S22 UHEH
StEANESEER ol A Q)
= - — SHE]|
SN B E(BH) - NREMY - BYS e bl D=2t
SHEAIE SEEZZ S 156,000 269,200 A 113,200
201 £B-2d| 54,000 110,000 256,000
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SoSA-EESY(EH) - NEAY - B gﬁ‘&i HR=2
01 2L I 24,000 24,000 0
OXNYELX2eER2FR 0 24,000
203 €2 F=&d| 5,000 5,000 0
03 Al ZH =X AR = XH| 5,000 5,000 0
OXNEES X 22 AL F 8| 5,000
206 M = Hl 30,000 30,000 0
01 XHZ H| 30,000 30,000 0
OH&EMgdEdS2s 22| 30,000
303 ZAZ2 6,300 7,000 A 700
01 LAZ 6,300 7,000 A 700
OXATHN S ™ & & XA S 6,300
305 HiAa=2S 20,000 10,000 10,000
01 HiMN=SS 20,000 10,000 10,000
[OAHH AT A H A= 20,000
401 Al HIZL 2 0HY| 5,000,000 6,650,000 A 1,650,000
01 Al&H| 4,964,000 6,598,620 AN 1,634,620
ORI e AFY 4,964,000
03 Al 8 | 36,000 51,380 A 15,380
OXNSES X2 AFS A S 20| 36,000
405 XHo&HF S HI 1,500 176,000 A 174,500
01 XA 2 FF S| 500 174,000 A 173,500
2™I2Y 500
02 = A 2| 1,000 2,000 A 1,000
OAHEI | HYXNSHESEAS 1,000
ZOoHA 22| 300,000 349,950 N 49,950
401 AlEHIZL 2 THHI 300,000 349,950 49,950
01 Al&H| 298,000 347,500 A 49,500
OS2 otA 22| A Al & H| 298,000
03 AlE 21| 2,000 2,450 AN 450
OS2 otA& 22| AFE Al E 2 0H HI 2,000
NIESHY =g =] 91,700 90,700 1,000
201 et 9| 11,200 10,200 1,000
01 AP 2t 2] d| 7,200 8,200 A 1,000
Ogs=2H| 3,000
ONEAUE=SEE=/0IH| 3,000
O o=t 4,200
OH=QN 2 Lot 2 (0 ) I 2| 4,200
02 2=2=2494| 4,000 2,000 2,000
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OA&E EHI R XY 4,000
O0ISAESINEAAES 2,000
O0lsa==J+aldl 2,000

202 oddl 30,000 30,000 0

01 = LH o4 1l 30,000 30,000 0
O HEAL =0 30,000

401 AIEBIZ 28I 50,500 50,500 0

01 A& Hl 50,000 50,000 0
O=2d st =X &aA X 50,000

03 Al S THHI 500 500 0
2 e 2 X &4 X AL 28 500

S HE M AS 100,000 200,000 100,000

401 Al BIZ 201 8] 100,000 200,000 A 100,000

01 A& HI 99,000 198,740 299,740
OS2 HE A A SHAS Al E HI 99,000

03 Al 2 0HHI 1,000 1,260 A 260
OS2 HE N LS AIS A E 28I 1,000

PAR==DN STE==EC FuI I/ Pu W =] 670,000 1,982,000 A 1,312,000
& 335,000
< 335,000

AEET2FAXZNH 560,000 1,382,000 A 822,000
& 280,000
< 280,000

401 Al& I 28I 560,000 1,382,000 A 822,000
& 280,000
< 280,000

01 A& HI 556,472 1,373,292 A 816,820
ORFEERZNAALEE(EESEY) 556,472
= 278,236
< 278,236

03 Al 20 HI 3,528 8,708 25,180
OEC2IPXZNLHAELUHH (RESY) 3,528
& 1,764
< 1,764

DNSADRES2RMM 110,000 200,000 A 90,000
& 55,000
< 55,000

401 Al& Bl & 28I 110,000 200,000 A 90,000
& 55,000
< 55,000

01 A& HI 109,208 198,200 A 88,992
OnSADRSRNLALH (ZESY) 109,208
& 54,604
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< 54,604

03 Al 2 THHI 792 1,800 A1,008
ORnSADIRESRNLEANL UL (ZSEEY) 792
& 396
= 396

W - B oHA 2te| 5,561,900 7,020,000 A 1,458,100

W AL 3,841,000 5,000,000 A 1,159,000

401 Al HIZ 201 8] 3,841,000 5,000,000 A 1,159,000

01 A& HI 3,820,000 4,975,000 A 1,155,000
LT SO0 MAHE Al & Bl 3,820,000

03 Al 2 THHI 21,000 25,000 A 4,000
WS MNMAIS AL RO 21,000

s B2AY 1,120,900 1,570,000 A 449,100

201 Ler24E] 900 0 900

01 At 22l 900 0 900
On=sl 900

OCuzE22 A FA1 =]

300,000 x3H x13] 900

202 044l 20,000 20,000 0

01 SLHOIYI 20,000 20,000 0
OugE=222AHF8 0 20,000

401 AIEHI L 2 0] 1,100,000 1,550,000 A 450,000

01 A& HI 1,090,000 1,539,000 A 449,000
OuE2 2 A A& 1,090,000

03 Al S THHI 10,000 11,000 A 1,000
OugES2AMIAIE LU 10,000

mE=Foh=Rel PSS 70,000 150,000 80,000

401 AIEHI L 2 CHYI 70,000 150,000 280,000

01 A& HI 69,000 148,000 279,000
OwE YoM XAl ZH| 69,000

03 Al R THHI 1,000 2,000 21,000
OnNEHUNMAAI LRI 1,000

nEHUEFEH 450,000 250,000 200,000

401 Al HIZ 2018 450,000 250,000 200,000

01 A& HI 444,000 247,000 197,000
DugdddA AL 444,000

03 Al 2 THHI 6,000 3,000 3,000
OnaedddEHBAILR0UH 6,000

s MstE X A X 30,000 0 30,000
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T AEHZXEUY 30,000 0 30,000

01 A& HI 29,000 0 29,000
OSdMet=EXed 29,000

03 A& =2 I 1,000 0 1,000
OSsdMetEXE#HAX 1,000

HERANES 50,000 50,000 0

401 AIEHIZL 28I 50,000 50,000 0

01 A& Hl 48,000 48,000 0
OHE S X2 A4l 48,000

03 Al 204 bl 2,000 2,000 0
OHERNESALER 2,000

gazd 68,237 90,055 221,818

SEANEHF 68,237 90,055 221,818

101 14l 7,077 7,325 A 248

M4 D122 2RSS ES 7,077 7,325 A 248
OHAEZEANELRLY 42,1803 1 150 6,327
CI5CHALE 2 750

201 L2l 26,000 24,050 1,950

01 At 22l 14,000 16,050 A 2,050
O3l 12,200
OsEs2ULENRAS 3,000
OZEEIJLEAMNIEHE 1,700
OSZAMEIInE A A 4,000
OKSHZ == 500
QOHJIZHdeldls 3,000
o=l 1,800
(OPNR=F-ESg= kB 1,500
(OUNR=F-ESg=-iin 300

02 =224l 12,000 8,000 4,000
OAIE EHls Xl 12,000
OBEANEIIRX &2 ( g) 12,000

202 o4dl 28,000 28,000 0

01 = LH o4 1l 28,000 28,000 0
OSEANEGERFA 28,000

207 A RO H| 7,160 6,680 480

03 A& & 224l 7,160 6,680 480
OANEEINRHE I 27 7,160
OlAdeds 1,000
OEZA 1,400
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2.2 FHB B EH) - NEAY - BES Ofl At o4 %Ei HR=2
OANESHZ 1,200
OsLEAES 1,560
OANEAXBLATHES 2,000
ESPNESINEE | 94,413 104,141 N9,728
ANEER A2 94,413 104,141 N9,728
101 Q124 H] 9,413 9,141 272
04 JI2ZtHIZ22NEE S 9,413 9,141 272
Osgdegaelo sy 56,750 x 1 150! 8,513
5 At 2 E 900
201 Bt 46,000 46,000 0
02 E2=22%H| 46,000 46,000 0
Jezd| 30,000
OFANHESAHZHI 30,000
A& &4l S Al 16,000
OAHZ2SHSSAES X 22 ]| 10,000
OFXNLH =&Y 6,000
204 &R 4= A H| 39,000 39,000 0
03 EHELE2AY 39,000 39,000 0
el &Sy (Yeral) 50,000 62 x 12 37,200
e S SH(HAHZ) 50,000& x3H x12& 1,800
HHSAALH(SSHE AL L) 4,355,550 4,347,566 7,984
A2 3,804,936 3,800,742 4,194
A 2AH| 3,804,936 3,800,742 4,194
101 e1214| 3,680,016 3,666,342 13,674
01 E% 3,201,236 3,206,313 AN5,077
mPIR==] 2,369,677
OHEH 68,994
- 4= 68,994,000 x1H 68,994
Os2H 2,060,282
-52(3082) 3,976, 100& x4 x12& 190,853
-2 (245 2) 3,276,300 x14H x12& 550,419
-72(1188) 2,288, 700& x 138 x12& 357,038
-82(958) 1,925,600& x5 x12& 115,536
- gA82 (138 2) 2,176,400 x 12 x12& 26,117
-Jlsh2(3082) 3,649,600 x 1 x12& 43,796
-Jls62(3082) 3,468,300 x7H x12& 291,338
-Jls72(2382) 2,937,300 x8 x12& 281,981
-Jls82(1282) 2,116,700 8 x12& 203,204
OodzZx=¢ 240,401
-HZ2E 2,016,486,0002 x1/12x50%*23] 168,041




M ALCASYR SN BRALALL
A HES AR (ZUALALL)
chel: ol gy
AR 2A - ZH-SH(EH) - HRAY - BES il
F2=EIHA3 72,360
254 01 &f 130,000& x24H 128 37,440
20E 0] &+254 0] ¢
110,000& x 108 x12& 13,200
- 158014204018 80,000 «12H 122 11,520
- 10E 0141159 018 60,000 x10H 122 7,200
- 5 01 4104 D) Bt 50,000 «5H 122 3,000
=g 438,532
Oodd=¢ 15,317
-HRSRESE 15,317
52 (308 2)
3,976, 100& 4 1%x1H 128 1,957
Jlstsll®
3,468,300 *4. 1%*x2H «12& 3,413
Jls6sU<
2,937,300& *4 . 1%*x4H «12& 5,781
JIs7sl=
2,116,700 *4 . 1%*x4H «12& 4,166
OHAEd ¢ 97,340
-EE 66,960
- B X 40,0003 62«12 29,760
- JIEHILS 20,0003 x62H 12 14,880
otk = 30,0003 62"+ 123 22,320
- XS =g 18,380
nsst 459,500 x10E »4 2 18,380
-S0FAE 500,000 «2H «12& 12,000
OE+=22+8 33,840
-AE2Rse 2,280
B 50,000 «3H 122 1,800
=3 40,0003 18 128 480
-SxgRsg0Is¥3EsY) 31,560
- 55014 50,000 «5H 12 3,000
6,72 30,0003 35 «12& 12,600
- 8= 0l ot 20,0003 x15H +123 3,600
MBS, A
30,0003 *20H 123 7,200
FAFZ (A IIAF) 20,000 « 15 « 122 3,600
e (28 ) 10,000& x4 H »12& 480
a3 (2 ) 20,000 «2H =128 480
HAAR(3EH0l4) 50,0002 «1H+128 600
OxzH2R+=EsS 288,435
-Ae2RE 288,435
JHE 9,692& *10Al 2t+62H « 12 72,109
= 9,692% *30Al 2+ +x62H «12& 216,326
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ORHSRIAE 50,000 6 x12& 3,600
OF A g A 130,000& x62H 128 96,720
OY¥EF Oty 2,016,486,000% *1/12x60%*23| 201,649
AIE &bl
2,085,480,000& *1/12x86%*1/30+ 19! 94,658
02 JIEtE B = 186,439 178,874 7,565
O3 Z 186,439
o2=3=2) 2,876,200 x3H «12& 103,544
(OFSE=Eal=s 103,544,000 *1/12x50%*23] 8,629
OFSE=El= Pl Fia= 3,360
- 209 0l &f~25 0] 8¢ 100,000& »2H 122 2,400
- 154 01 &f~20 O] 2t 80,000 «1H « 128 960
OAlztel =< 28,057
-xE 8,724 *3H *60Al 2tx 128 18,844
- OF2b=E 2,908 «3H «BAI 2 x 112« 12E 9,213
(OIE=J8= N 4,000
ONs=g 3,240
- B Xt 40,0003 «3H » 12 1,440
- RLIE 20,000 «3H « 122 720
- Jtet =g 30,0003 «3H 12 1,080
OXHSH ExY 5,514
-nsSshd 459,500& x3H 43 5,514
OZSNEMSL () 30,000 *1H«122 360
OFAZAHI 130,000& 3 122 4,680
OFE S ItHI 103,544,000% *1/12%60%*23] 10,355
O It E 4l
103,544,000 *1/12%86%+*1/30* 19 4,700
OH1&0M= 8,500
o1l =l 250,000& x3H +23] 1,500
03 RIAHAZ 2T E += 292,341 281,155 11,186
O&EzE+3 153,589
OJdles 48,8303 5% x250 61,038
o&n= 61,038,000& *1/12%400% 20,346
OxFs=+¥ 48,8303 x5&H 52 12,696
Og Xt 48,8303 «5H x252 6,104
o254 3,024
- 104 0l &f 84,000 1A« 128 1,008
- 10& 0l &t 42,000 *4H 122 2,016
O1l=dl 150,000& 5% »23] 1,500
Ol 32,400
OsgZ2fs+¥ 48,8303 *1.5x5H +20 7,325
OANZ 2R
48,830% *1.5/8%4 Al 2b x5 x50 9,156
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42 .24 - B o9(3) SAR - BHAS il
OESANEEXES 79,952
OJdles 42,1803 +4H +250 42,180
O&0= 42,180, 000& *1/12%400% 14,060
OxFs=+¥ 42,1803 »4H 52 8,774
OAR=< 42,1803 +4H x252 4,218
OzZ2s5+% 2,220
- 104 0l & 80,0003 «1H 128 960
- 10& 0l of 35,0003 «3H 122 1,260
OO0l 8,500
O 6,480
Ot <Xt 40,0003 «9H «12& 4,320
OXAHEHI = 20,0003 =9 x12& 2,160
OuwEE 2| 60,0003 «9H «12& 6,480
OYEF Oty 600,000 x9H *23] 10,800
PSRl 130,000& x9H »12& 14,040
OFA&XSHEAER 250,000& 1 43 1,000
LI5CHALR 2 20,000
e RS E L 124,920
AU ZH| 9,600
Oa% 400,000 «1H =128 4,800
Onts 100,000& x4 »12& 4,800
ESE= N 115,320
4= 400,000 «1H 128 4,800
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